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QUESTION 1

You want to validate your SAP HANA data model. What must you ensure to use the data preview functionality?
A. The _SYS_BIC user is created in the system and the runtime information is written to_SYS STATISTICS.

B. You are connected as SYSTEM user and all object privileges are assigned to this SYSTEM user.

C. The _SYS_REPO user must have sufficient object privileges assigned to your desired schema.

D. Your content package is assigned with sufficient repository privileges to the SYS REPO user.

Correct Answer: C

QUESTION 2

Which settings can you define in a data transfer process (DTP) if you load data into a DataStore object
(advanced)?

Note: There are 3 correct answers to this question.

A. Extraction mode

B. Error handling

C. Activation handling

D. Data tiering

E. Semantic groups

Correct Answer:. ABE

QUESTION 3

Which query property do you set to minimize the initial run time for the query read mode?
A. Read all data at once.

B. Read data individually from InfoProvider.

C. Cache is inactive.

D. Read data when you navigate or expand hierarchies.

Correct Answer: D

QUESTION 4
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When do you recommend using an external hierarchy? Note: There are 3 correct answers to this question.
A. The hierarchical structure will be time-dependent.

B. The structure will contain formulas.

C. The structure will depend on the order of the row characteristics.

D. The structure exists in the source system.

E. The query data will be restricted to a hierarchy node.

Correct Answer: ADE

QUESTION 5

You identified a variable that is based on time characteristic OCALMONTH and returns the current quarter. Which offset
do you need to retrieve the corresponding quarter of the previous year?

A. -12
B. -4
C.-1
D.-3

Correct Answer: A
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